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SA: sS4
Ha: DEI SAS MAIIE 1S
Ol AlZFO| OLEI AU RS (=CRE
_ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 4D} 197,016, 156 189,226,267 7,789,889
= 163,510,041
3 3,580,000
| 5,841,000
= 24,085,115
DER SHS MADIE RS 196,936,356 186,532, 337 10,404,019
2 163,510,041
3 3,580,000
| 5,841,000
= 24,005,315
MZo| OIHN MAD|E DS 3,909,296 3,983, 146 A73,850
2 375,000
g 400,000
= 3,134,296
DEI 42 M) 2E P2 14,310 14,460 A150
201 Yereg| 11,460 11,460 0
01 AtRZelt| 5, 160 5, 160 0
OsMYRE 5, 160
02 B2 6,300 6,300 0
OFA0E 2B 3 293 6,300
203 YREXY| 2,850 3,000 A150
03 AIMZ=RHREZY| 2,850 3,000 A150
OsMYRET 2,850
MBRS OIEE Mo X2 1,650,000 1,881,700 A231,700
307 2120/ H 30,000 30,000 0
02 DIAMEBE 30,000 30,000 0
ORFASS LI 30,000
308 X+XIEHHIS Ol & 10,000 0 10,000
01 MXSHHAZAHEES 10,000 0 10,000
OMFYs T4 X2 10,000
403 XHXIGHAIS XH= 0/ & 1,610,000 1,851,700 A241,700
01 MXISHT=LE 1,610,000 1,851,700 A241,700
OH ZESLE 4N 960,000
OBg2 03 AXAYUX SEX
200,000, 0002 * 1574 2 * 15% 450,000
O HFAISEYl B2 500,000,0008 *20% 100,000
oMo 22 500,000, 0002 *20% 100,000
SHS ML BHE X 1,314,986 1,194,986 120,000
308 XX GRS 0 1,314,986 1,194,986 120,000
01 MXSHZAHSES 1,314,986 1,194,986 120,000
OSUNTH FHEX 2 994,986
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Hu: DEE SA2 MDY S
Ol AlZFO] OPEN AU RS (B9 &2
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
SEEEFEEELE 320,000
DEIN IFAYM S4 420,000 372,000 48,000
=2 375,000
= 45,000
403 REXISHSKHZO0|H 420,000 372,000 48,000
=2 375,000
= 45,000
01 XXISHA=EE 420,000 372,000 48,000
ODEIM HNAAT T4
250,000, 000! %34 A *56% 420,000
=2 375,000
= 45,000
YRS HUC FHAY 460,000 520,000 60,000
g 400,000
= 60,000
403 RXISHS K20 H 460,000 520,000 60,000
| 400,000
= 60,000
01 XIXISHH LS 460,000 520,000 60,000
OYXE SCS |4  1,000,000,0008 *46% 460,000
p 400,000
= 60,000
ey =SAE 23 N 50,000 0 50,000
403 RXISHSXHZ0IH 50,000 0 50,000
01 XIXICHH e S 50,000 0 50,000
OB =SAE 2SN 50,000
HEH=I x4 42,014,052 44,824,810 ~2,810,758
=2 28,121,609
=l 700,000
= 13,192,443
HBA=o ]A 396,960 100,460 296,500
307 212+0| 10,000 20,000 210,000
02 PABAEE 10,000 20,000 10,000
OS2 SAS HAITONE A X2 10,000
308 XHXISHH SO 66,960 80,460 A13,500
01 MIXSHBLLSTS 66,960 80,460 A 13,500
OXBY SHS ASY X 54,000
OXBASY HSX N
8, 00021 45052 % 1204 2 +30% 12,960
403 RXISHSXHZ0IH 320,000 0 320,000
01 MRS S 320,000 0 320,000
OXHY SHS Mo ZXX S 20,000
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Ha: DBE S42 M8 RS
SC B EET-PIETE S (649l &2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
01 MHASHBLSES 790,000 1,326,352 536,352
OFBUBHAZ NS ALK 2
1,000,000, 000! *79% 790,000
= 700,000
= 90,000
SHIRS EX0 KA 496,092 572,414 A76,322
= 381,609
< 114,483
403 RXSHSXHZ0IH 496,092 572,414 AT6,322
= 381,609
< 114,483
01 MXSHI2E S 496,092 572,414 AT76,322
OSHIRSEXT XA 763,218,002 *65% 496,092
= 381,609
= 114,483
HABHY AEHUIE N 7,500,000 9,700,000 A2,200,000
403 XX SHSKHZ0IH 7,500,000 9,700,000 A2,200,000
01 XXISHA=EE 7,500,000 9,700,000 A2,200,000
OHBYBHE LEHUIE K (1508 ha) 7,500,000
EYMBH BEAE 13,272,000 10,871,474 2,400,526
= 11,760,000
= 1,512,000
403 XX SHSKHZO0IH 13,272,000 10,871,474 2,400,526
= 11,760,000
= 1,512,000
01 UXISHT =S 13,272,000 10,871,474 2,400,526
OE LM R (L) 13,000,000, 000! +79% 10,270,000
= 9,100,000
= 1,170,000
OE LM N (43]) 3,800,000, 0002 *79% 3,002,000
= 2,660,000
= 342,000
=SIEL M 10,130,000 9,565,210 564,790
= 9,000,000
= 1,130,000
403 XX SHHSAHZO0IH 10,130,000 9,555,210 574,790
= 9,000,000
= 1,130,000
01 XXISHA=LEE 10,130,000 9,555,210 574,790
ORIIHYI BT (1808 E)
14,400,000, 000! +70% 10,080,000
= 9,000,000
= 1,080,000
O=A2 B2 XM X 50,000
S SHANY 1,300,000 5,850,000 A4,550,000
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403 XHXIEHHSA=01H

<

2,036,000
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ORUAZ BHEsdAY
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1,520,000
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3,458,000

A1,422,000
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747,000
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3,237,000

2,490,000
747,000
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AN447,515
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OFTAD |5 A ARSI ALY
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SN ST
HMH DRI sS4 MADlY PE
Tl ROISE MADIBH A B (TR
SN HB SR (BIH) - A - B S 0l &b S D=2
- T - = S = &= 0:”/&,% WS
01 RXESHMA2E xR 177,000 0 177,000
Olts fE37 MasXxd AIHAE
300,000, 000& *59% 177,000
| 150,000
= 27,000
AMNERNSE ML A 1,534,000 1,534,000 0
Il 1,180,000
= 354,000
403 X SHMSAH=01H 1,534,000 1,534,000 0
Il 1,180,000
= 354,000
01 RXSHMA2E = 1,534,000 1,534,000 0
OANZE20 SEMHLAS
1,475,000,000& *4 I 2~ *26% 1,534,000
Il 1,180,000
= 354,000
AMETA NSE MAAIE &5 915,000 1,475,500 A560,500
403 NtXIEMSK=01H 915,000 1,475,500 A560,500
01 RXSMIA2E = 915,000 1,475,500 A560,500
OAEA Jg fHXEZ & SEHEAL
52,000, 000& *50ha* 15% 390,000
OJHEES NZZE Mot AlE 455,000
OAZ20 LHTHEIAIS 70,000
st e A==JA0M st XA 700,000 1,255,000 A 555,000
403 X HMSAH=01H 700,000 1,255,000 555,000
01 MXISMA=2E = 700,000 1,255,000 A 555,000
OL==20=It SIIAHXH(8T) 200,000
O==20=It SIS (9T)
1,333,333,000& *15% 200,000
Ol==20=sIt M2 HZ LXK
25,000,000& *80= *15% 300,000
NESEets Mo 2 =SAEX 300,000 450,000 A 150,000
403 X HMEAH=01H 300,000 450,000 A 150,000
01 AXESMIA2E = 300,000 450,000 A 150,000
OLSEFMAALAMS XA
1,000,000, 000& *15% 150,000
SEEPSET-PEYE
100,000, 000& *10H 2= * 15% 150,000
20118 Mot SN stgeresl & AIE Dt 75,000 0 75,000
307 QI2t0IA 75,000 0 75,000
02 BltAAEX 75,000 0 75,000
020118 Mot = Histsll &2l ™ A& Dt 75,000
NEZ S M AHIEX Dl 5 119,706,283 114,704,666 5,001,617




S S
Hu: DEE SAB MADIE RS
GOl DEX SRHCH AHIEX J|E RS (Etel:&e)
A -3 H2A(3H) - NRAY - H Off &F oK gl,liafg Hlw &2
= 118,003,432
= 1,702,851
yRpel Y4 ALY 106,382 106,382 0
= 106,382
201 ety 34,382 34,382 0
= 34,382
01 At el 29,382 29,382 0
OEIE=EIRETET] 22,182
= 22,182
oLzl 2| 7,200
= 7,200
02 ZZ2YHl 5,000 5,000 0
oyl HT2YH| 5,000
= 5,000
202 01H 27,000 27,000 0
= 27,000
01 2L oIHl 27,000 27,000 0
Og=ze| P2 FI 0| 27,000
= 27,000
308 XtXIEHHISOIH 45,000 45,000 0
= 45,000
0 IXCSHALEES 45,000 45,000 0
oY= YAEE(AZ) 45,000
= 45,000
MASS SMEFNSAY N 111,179,320 108,937,000 2,242,320
= 111,179,320
201 ety 10,000 10,000 0
= 10,000
01 At el 10,000 10,000 0
OMASSERIEAY22(128) 10,000
= 10,000
202 014l 18,000 18,000 0
= 18,000
01 2UoiH| 18,000 18,000 0
OMASSEIIZAY £ O] 8,000
= 18,000
307 BI2t0IH 30,000 0 30,000
= 30,000
04 SIZtEALE X 30,000 0 30,000
OMASSENNEAY HE3 WA 30,000
= 30,000
308 XX EHH SO 111,121,320 108,909,000 2,212,320
= 111,121,320




SH: s
HE: DEI SMS MAIIE RS
C9l: DEX SMCH AHIEF I D= (e @
_ _ HE T
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
01 MXSHBABES 111,121,320 108,909,000 2,212,320
ORASSBHENZALHHY X 242,720
= 242,720
OMAXEHIMARRE 2 278,600
= 278,600
OBASSBHNEAY X2 110,600,000
= 110,600,000
EALAXY HFHNBAY X2 990,581 1,007,784 ~107,203
=2 877,730
= 112,851
308 XIXIEHHI SOl & 990,581 1,007,784 £107,203
= 877,730
= 112,851
01 MXSHHZHSES 990,581 1,097,784 A 107,203
OXAZ2ANANEAY =X #FY| KR (15A
2) 2,260, 0002 151 2 7% 26,781
= 23,730
= 3,051
OXAg2XANESZ K&
500, 00021 +2, 440ha*7%% 963,800
= 854,000
= 109,800
DIZESHAE AZHEAL XA 4,276,000 2,215,500 2,060,500
= 3,360,000
= 916,000
403 XEXISHHIS XH2 O & 4,276,000 2,215,500 2,060,500
= 3,360,000
= 916,000
01 RMXSAXZSE 4,276,000 2,215,500 2,060,500
OSERC Xl 900,000, 00021 *47H 2 53% 1,908,000
= 1,800,000
= 108,000
Oz4 X 600,000, 00021 *47H 2 x43% 1,032,000
= 960,000
= 72,000
OX2&D N 300,000, 00021 #47H 2 53% 636,000
=2 600,000
= 36,000
Ol AXLRAIL X 500,000
O AZHE L HSAIL 200,000
DEN ASUS SHAY 2,914,000 2,143,000 771,000
=2 2,480,000
= 434,000
308 XIXIEHHISOIH 104,000 288,000 184,000
= 80,000
= 24,000
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_ _ HE T
ZM - HRA(ZA) - NIRAIY - ® o '@,‘;OH Hlw &2
01 KHXISHRIZ 104,000 288,000 A 184,000
OnsEHY
00, 000! #47H 4 52% 104,000
2 80,000
= 24,000
403 NXIEH S 2,810,000 1,855,000 955,000
= 2,400,000
== 410,000
01 XEXIEHR Xt 2,810,000 1,855,000 955,000
(ON=F<F-) t
0,000,000 *2JH 2 *46% 2,760,000
2 2,400,000
= 360,000
Osgy o 50,000
BaiE A A 190,000 165,000 25,000
U2y 140,000 30,000 110,000
01 AF22-2/H] 140,000 30,000 110,000
Ose® 3D 140,000
BI2t0 & 50,000 80,000 30,000
DIFEALE = 50,000 80,000 30,000
Osgs & 50,000
ol LA 50,000 40,000 10,000
403 XHXISHSAH20 50,000 40,000 10,000
APNE= VS (PN 50,000 40,000 10,000
o3z D 50,000
o HI (s 4HDF) 79,800 79,800 0
79,800 79,800 0
I 79,800 79,800 0
Uty 37,800 37,800 0
At 2tel ] 37,800 37,800 0
OstAR= 37,800
ot 37,800 37,800 0
2 oil 37,800 37,800 0
Osttg = 37,800
A2 =E| 4,200 4,200 0
SNRIYREXL| 4,200 4,200 0
Os 4t 4,200
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